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B {EBq/FF
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H 1 | 2 [ 37 E5l | Ak | 2400 AL (640 HA
HIJIEI(:s—134ND(9.4E-7 ND(9.4E-7) 1.1E-6 |ND(7.0E-6)| 4.2E-6 | ND(9.3E-7) DREH —H
Cs-137ND(1.3E-6) 2.6E-6 | 2.5E-6 |ND(1.0E-5)| 1.1E-5 | ND(1.3E-6)
, Cs-134] 6.0E-6 [ND(9.4E-7) 6.2E-6 |ND(6.4E-6)| 7.8E-6 | ND(9.4E-7)
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3. = &Ml
BERAN—DSOMEE = (7.8E-6+2.1E-5) X 22710 X 1E6 X 1E-8 =6.5E-3{&Bq/R%
PCVA RAH O(Cs) = (1.9E-6+2.9E-6) x 22E6 X 1E-8 =1.1E-6{&Bq/BFLLT
PCVA R H A(Kr) = (2.3E0) X 22E6 X 1E-8 =5.1E-1{ZBq/HF
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BOP[#RI =(5.2E-7+1.0E-6) X 5089 X 1E6 X 1E-8 = 7.7E-5{ZBq/F
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EED ELi®) B FE&(m/s) (Ba/cm’) (m’/h)
g o1 e2e 13E-4 256-5 ot E (ol4 - NDQRIEO) 20
Bl . . L
Cs-137 2.2E-5 3.1E-4 6.1E-5 Csel s 2550
Cs—134 2.3E-6
Cs-134 3.0E-6 3.3E-5 5.4E-5 3/3 19
3/3 0.02 Cs-137 3.7E-6
Cs-137 9.1E-6 7.6E-5 1.4E-4
_ PCVH A 0| ReE
o B mmal we =
FRF DS fE%E 8 TE <A (Ba/cm’) (m’/h)
(EHDORAERRINHDHIBEEL. Cs134+Cs137TREHEN —B S\ EFZIEA) BiE | Kr-85 7.0E1 20
3/3 | Kr-85 7.6E1 19

XEFFELEMSHEREEL, H26.31RED
RERLEE(mY/s)EER

2.1 H = 5Tl
B2 (RFFELER)* =(3.3E-5+7.6E-5) X 0.11% X 1E6 X 3600 X 1E-8 = 4.3E-4{8Bq/H
2 (58 \yTF) =(5.4E-5+1.4E-4) X (0.02%x 5.6 X5.6)E6 X 3600 X 1E-8 = 4 4E-3{&Bq/FF
PCVA A H O(Cs) =(2.3E-6+3.7E-6) X 19E6 X 1E-8 = 1.1E-6{EBq/R¥F
PCVA R H AKr) =(7.6E1) X 19E6 X 1E-8 = 14{ZBo/b
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RERE %z SFPiE{E FUAREES AV - L& e A BERERmH O (Ba/ecmd) | (m¥/h)
L 3E— SE 3E- | Cs—134 ND(6.5E-7)

. Cs-134 | ND(6.3E-7) | ND(6.3E-7) | ND(6.3E-7) - o
Cs-137 | ND(9.6E-7) | ND(8.9E-7) | ND(8.8E-7) Cs-137 ND(9.6E-7)
_ _ . _ Cs-134 ND(6.5E-7)

iy Cs-134 | ND(6.4E-7) | ND(6.1E-7) | ND(6.6E-7) i o
Cs-137 | ND(9.5E-7) | ND(9.3E-7) | ND(9.5E-7) Cs-137 ND(9.7E-7)
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V3: A/ =5 A RE (m/s)

V4 : =5 AR (m/s)

V5: A/ 8—FE AR (m/s)

V6 : HESURE (m/s)

P1: EFREIE 1 (JLE) (Pa)

P2: T EIE A (dLE) (Pa)

P3: LFEIE S (FEE) (Pa)

P4: FHREIE S (FEE) (Pa)

P5:R/BAIE /1 (0Pa)

P:7/3—AE A (Pa)

S1: A/ —ERIE R (m?)

S2: 7/ \— AR EE (m?)

S3: A/ —ERIEE (m?)

S4: 7\ — AR EE (m?)

S5:R/BZERBOEE (m?)
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S7:R/BIEE AREBADEE (M%)

S8: HER A I MRAEE (m?)
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REEEVET BE, LTRAL 'Fu.dﬁlld)lj_:jﬂzt»xd)é:?at)t&é
FHRAIGLE) :P1=C1x o xV0™2/(2g) --+(1)
THREIELR) :P2=C2x p XV0"2/(2g) **-(2)

L FRBEI(FER) :P3=C3X p X V072/(2g) +++(3)
THREI(FR) : P4=C4x p X V0°2/(2g) ---(4)

RIEZEP. FRESOERREE S L5

P1-P=¢ x p xV172/(2g) ==+ (5)
P-P2=¢ x p xV272/(2g) -1 (B)
P3-P=¢ x p xV372/(2) = (7)
P-P4=¢ % p XV4"2/(2g) =+ (8)
P5-P=¢ x p XV572/(2g) =+ (9)

ERRHBABDTRNSVRARKIE
(V1 X S1+V3 X (S6+S7)+V5 X S5) X 3600=(V2 X S2+V4 X (S3+54)+V6 X S8) X 3600

EDERDDELEY 1ESTDHE
Y=(V1 X S1+V3 X (S6+S7)+V5 X S5) X 3600—(V2 X S2+V4 X (S3+54)+V6 X S8) X 3600
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V1, V2, V3, V4, V5[E(5), (6), (7), (8), (9)RKIZkY. PORBEEKLED T, IYINERIZHLLSICPOELXRET S

VO C1 C2 C3 C4 I3 o)
(m/s) (ke/m®)
1.10 0.80 -0.50 0.10 -0.50 1.00 1.20
S1 S2 S3 S4 S5 S6 S7 S8
(md) (m?) (m) (m? (m? (md (m) (m)
1.20 1.20 1.20 1.10 2.00 0.00 2.00 2.88
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.059265 [ —0.03704 | 0.007408 | -0.03704 0 —0.00385
Vi V2 V3 V4 V5 V6 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
1.02 0.74 0.43 0.74 0.25 0.00 0.00
IN OUT IN OuUT IN OUT(HER), OK
¥IN  fRA
OUT: it
HRREE 9,278 m’/h
Ko7V RE 0 m’/h
wmiEE 9278 m’/h
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%51 15HEEN/N\—ORREFL(

BT EORRETHED (—HD

3H48 3858 3A6H 3878 3A8H 3A98 38108
RE Brf | RAE R B | RARE | EE BEF RRE [ RE B RARE | A& B | RRE | A& B wRE | RE By | RmE
(m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
il 2.1 23 19,028 0.6 0.2 5,512 29 1.3 26,525 48 8.7 43,970 0.0 0.0 0.0 0.0 0.0 0.0
wER [ 21 0.3 18,015 1.3 0.2 11,424 48 1.2 42,308 43 6.2 37,508 0.0 0.0 0.0 0.0 00 00
JEFERE 1.9 12 16,408 18 28 16,091 58 133 50,688 28 0.2 24,549 00 0.0 0.0 0.0 00 0.0
JtiFER | 00 0.0 0 2.1 58 17,808 35 3.2 29,920 1.1 0.2 9,278 0.0 0.0 0.0 0.0 0.0 0.0
B4 0.0 0.0 0 24 53 19,080 20 1.2 16,198 1.0 0.2 7,929 0.0 0.0 0.0 0.0 0.0 0.0
EAERA| 10 0.2 7,949 18 27 14,556 0.0 0.0 0 00 0.0 0 0.0 0.0 0.0 0.0 00 0.0
Ela- 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
HitEA | 3.1 0.5 26,714 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
A 32 0.7 29,592 0.0 0.0 0 0.0 0.0 0 0.7 0.2 6,524 0.0 0.0 0.0 0.0 0.0 0.0
HEHER| 30 12 26,133 0.0 0.0 0 0.0 0.0 0 05 02 4,356 0.0 0.0 0.0 0.0 0.0 00
FIRE 32 15 21,377 1.1 0.3 8,860 0.0 0.0 0 00 0.0 0 0.0 0.0 0.0 0.0 00 0.0
mERA| 33 32 26,608 1.6 05 12,718 15 0.2 11,923 0.7 0.2 5,564 0.0 0.0 0.0 0.0 0.0 0.0
1) 36 1.7 28,387 1.9 22 14,883 1.4 0.3 10,705 1.0 05 7,929 0.0 0.0 0.0 0.0 0.0 0.0
mEER | 37 72 31,109 2.7 08 22,604 1.6 0.2 13,495 1.1 1.3 9,594 00 0.0 0.0 0.0 00 00
FTEE 1.4 13 12,275 36 1.2 31,438 1.9 0.7 16,658 18 0.7 15,562 0.0 0.0 0.0 0.0 00 0.0
mmEE | 22 25 19,158 1.3 1.2 11,048 29 22 25,553 20 43 17,711 0.0 0.0 0.0 0.0 0.0 0.0
i ffm%)é 594,287 402,833 948,479 726,508 0 0 0
L f— Y[7 = ~ N —IN ==k 772 Az = |— =W
1673 1B DT IIERN SRR ZRIE DX DICFHE T D,
NN =a
;Fﬁ /%E [
STl AR 2/18  ~ 2/24|2/25 ~ 3/3|3/4 ~ 3/1 ~ ~ ~ RAREAFMI) | FERRHRG) [ RREmMI/N)
J@FE?I;E;)EE 3,692,185 3,546,287 2,672,108 9,810,580 432 22,7110
M E BRICER 8
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V5 o
wpmmans | 2
NIN—HAAND G A

P5=0
RFIFEE

VO: S SRR (m/s)
V1:AN\—RAGRE ARE (m/s)
V2: AN—AFEHE ARE (m/s)
V3: WN—AFH AREE (m/s)
V4: HN\—RAFEHE AEE (m/s)
V5: AN\ —RFEHE AR (m/s)
P:H/3—RAE A (Pa)

P1: EREIE 5 (ALR) (Pa)
P2: T REIE 5 (AL R) (Pa)
P3: EFRAIE A (FER) (Pa)
P4: TiRfIIE 5 (FR) (Pa)
P5:R/BAIE /1 (0Pa)

S1: A\ —[ERIEHE (m)

S2: 1/ \—[RFEHE (m®

S3: 51/ \— R EE (m”

S4: 51/ \— AR EE (m”

S5: BB KIBIS AR ERIETE (m?)
0 ZERBE (ka/m°)

C1: EEFHE LA LA

C2: EEFREGELE T )
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£52 ASHAMEH LRAN/ N \—0jREEF

LFREICLR) :P1=C1x p XV0"2/(2g) -+ (1)

TiRAIALRE) :P2=C2Xx p xV0"2/(2g) *+-
A (FR) :P3=C3x p xV0°2/(2g) ---
TimAI(FER) :P4=C4 X p XV0"2/(2g) =+

P1-P=¢ X o XV172/(2g)
P-P2=¢ X p xV2°2/(2g)
P3-P=¢ x p xV372/(2g)
P-P4=¢ x p XV4"2/(2g)
P5-P=¢ X p X V572/(2g)

REZP. BRAOERREE S ETHE

(2)
(3)
(4)

NG
-+ (6)
e (7)
-+(8)
++(9)

ERRHABDIRANSVARK(E
(V1 X S1+V3 X S4+V5 X S5) X 3600=(V2 X S3+V4 X S$2) X 3600

EDEARDOEEIYIET BE
Y=(V1 X S1+V3 X S4+V5 X S5) X 3600-(V2 X S3+V4 X S2) X 3600

REEVET HE, LRAL TREDENFRDEEY ELD,

V1,V2, V3, V4, V5(L(5), (6), (7), (8), (RIZKY. POBEKLDO T, IYINERIZHE K5I

POIEEHAEY S
Vo C1 C2 C3 Cc4 I 0
(m/s) (kg/m%)
2.66 0.80 -0.50 0.10 -0.50 2.00 1.20
S1 S2 S3 S4 S5
(m?) (m) (m) (m?) (m)
0.44 0.81 0.46 0.81 4.00
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.34656 | -0.2166 | 0.04332 | —0.2166 0 —0.00149
Vi V2 V3 V4 V5 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
1.69 1.33 0.60 1.33 0.11 0.00
IN ouT IN ouT IN OK
XIN A
OUT: it
RAE 6,022 m’/h
M E BRICER 10
BE2 4SHIREINELRA/ S—0 R
= k] n VSN
B EDRREFTE (—HD
3H8H 3890 38108 38118 38128 38138 38148
RE BFR | SREE BE BFR | REE [ RE BEfE RRE | BE B8 RRE | EE BFRE | REE | RE BEfE RERE | A& BfE | mRE
(m/s) (hr) (m3/h) [ (m/s) (hr) (m3/h) [ (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
i) 28 44 1.3 0 28 22 0 31 1.3 0 33 48 0 0.0 0.0 0.0 0.0 0.0 0.0
TR [ 36 65 8,270 23 28 5,144 43 80 9,767 38 55 8,521 0.0 0.0 0.0 0.0 0.0 0.0
tER 2.1 33 4,781 25 38 5,609 36 75 8,166 30 40 6,776 0.0 0.0 0.0 0.0 0.0 0.0
JedeEEmE [ 14 0.3 2,490 23 1.8 5,186 34 6.0 7,628 27 1.7 6,022 0.0 0.0 0.0 0.0 0.0 0.0
El4::) 0.0 00 0 22 15 6,847 20 1.0 6,340 21 02 6,602 0.0 0.0 0.0 00 0.0 00
JedLEE [ 00 00 0 1.0 0.3 2,264 13 0.2 2,943 1.0 0.2 2,264 0.0 0.0 0.0 0.0 0.0 00
El4-4::) 00 00 0 24 0.7 5,394 00 0.0 0 00 0.0 0 0.0 0.0 00 00 0.0 00
HiLEE [ 00 00 0 29 12 6,685 00 00 0 00 0.0 0 00 0.0 00 00 0.0 00
HE 08 0.2 2,174 32 08 8,643 0.0 0.0 0 00 0.0 0 0.0 0.0 00 00 0.0 00
HEEEE | 00 0.0 0 3.2 0.7 7,183 0.0 0.0 0 00 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
FRE 0.0 00 0 39 15 8753 00 0.0 0 00 00 0 0.0 0.0 00 00 0.0 00
BmEEE| 12 05 2,611 36 1.3 8114 0.0 0.0 0 00 00 0 0.0 0.0 0.0 0.0 00 00
)8 1.8 0.2 5,633 32 1.8 10,015 0.0 0.0 0 1.3 0.2 4,068 0.0 0.0 0.0 0.0 0.0 0.0
AR | 09 02 2014 25 12 5,628 0.0 0.0 0 1.9 1.7 4,320 0.0 0.0 0.0 0.0 0.0 0.0
i) 0.0 0.0 0 26 0.7 5,892 0.0 0.0 0 1.8 12 4,072 0.0 0.0 0.0 0.0 0.0 0.0
AR | 22 1.0 4,826 23 15 5,262 0.0 0.0 0 26 47 5,932 0.0 0.0 0.0 0.0 0.0 0.0
1673 B DT IIERND SREBRZFIED K DICFHH T B,
N N [— AN
RRESE
Balittls] 2/15  ~  2/21| 2/22  ~  2/28 | 3/1 ~ 3/7 3/8  ~ 3/11| REBEEFHMI) | FHEMKHEG) | KEREmMI/h)
ﬂFﬁ?ﬁ?% 1,482,449 782,209 1,015,680 536,758 3,817,095 600 6,362
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